Soustraction (E)

Calculez la différence.

9289 5637 6008 3560
=24 925 496 =113
8146 9945 4578 2244
—510 =207 684 =602
4647 3375 H3TH 7665
=658 =333 278 =08
9186 9843 1736 8452
=539 297 =290 =396
4716 2647 4623 9008
—609 H31 DHET  =B4T7
8239 8402 3029 8066
416 412 504 =958
7117 7454 3881 5136
=179 H50 09 =186
1119 4851 4797 4726
—114  H48 =36 =166
8517 2861 7960 7170
=42 =127 H40 =62
5154 3170 4825 6993
=79 H72 H0 =164

5679 2809 5028 4732 2824 5187
913 =204 A7l H9%8 H03 =236
2050 6895 5008 6149 8903 7912
=29 H39 H99 A2 L£79 638
602 7311 6517 1810 4857 7092
=356 =341 601 626 =1r 04
2360 2651 1394 9467 5624 9884
=62 463 445 298 273  =H66
3712 5367 3106 4230 9151 6721
=160 =18 H81 602 469 953
8685 7007 7302 2783 2896 7963
—581 A58 695 A83 =138 =329
7025 4289 6558 6877 9826 1587
—529 K93 B48 =862 934 =34l
8268 8273 3576 1525 3713 7601
=271 =00 =210 =277 245  A88
1737 3332 2602 3944 1012 7246
=953 H29 673  H  A81 =740
4538 3380 3934 5950 8919 1404
=908 /45 690 354 343 D2
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